Concrete Pumps

Section 2



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Pos | Part No. Description Remark

1 02 1015 07 Housing DN200/210/180
2 02 1007 69 Base plate DN250/230/200/180
3 02 1007 67 Wearing insert DN200

4 02 1007 86 Transition insert DN200

5 02 1001 35 Sealing cover

6 02 1002 41 Cover

7 02 1001 37 Bearing bush D 95/108/70

8 02 1006 28 Bushing

9 02 1000 26 Bushing MB 35/30 DU
10 | 02 1001 37 Cheese head screw M16/125 8.8
1" 02 1013 55 Screw retainer SKZ 16 DT 320
12 | 02 1000 65 Hexagon head screw M10/40 8.8

14 | 02 1001 69 Cheese head screw M10/16 8.8

15 | 02 1013 87 Screw retainer SKZ 10 DT 320
16 | 02 1001 41 O-ring 95x8

17 | 02 1001 02 O-ring 207x3

18 | 02 1000 16 O-ring 214x5

19 | 02 1009 07 Plug

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563

E-mail: tridubai@emirates.net.ae

Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com




TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Rock valve RM DN 210/180

Pos | Part No. Description Remark
1 02 1005 67 Rock DN 210/180

2 02 1015 80 Back up ring DN210
3 02 1006 73 Slewing shaft

4 02 1006 39 Cutting ring @210

5 02 1006 72 Pressure spring DN210
6 02 1002 38 Sealing kidney DN180
7 02 1001 96 Setting disc

8 02 1004 80 Tension nut

9 02 1000 95 Hexagon bolt M30x150 8.8
10 | 02 1001 O1 Safety disc S30

11 02 1000 96 Hexagon bolt M16x30
12 | 02 1013 55 Screw retainer SKZ16

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Cover of housing (100 180 45)

Pos | Part No. Description Remark

1 02 1001 27 Cover DN180/210/200/230
2 02 1001 46 Housing lining DN180

3 02 1001 29 Cover lining

4 02 1001 47 Support bushing

5 02 1001 64 O-ring 195x3

6 02 1001 36 O-ring 70x8

7 02 1001 81 Lifting eye bolt M10 - C15

8 02 1000 22 Hexagon head screw | M16x35

9 02 1000 23 Safety disc S16

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Slewing drive (10108111)

Pos | Part No. Description Remark

1 02 1009 69 Slewing cylinder D80/45/185
2 02 1001 71 Slewing lever DN210/180
3 02 1001 69 Bolt  45x124

4 02 1001 73 Cover

5 02 1011 19 Bushing

6 02 1001 70 Ring A9x45,5x51

7 02 1001 72 Shackle@8x40/50

8 02 1010 26 Clamp @85

9 02 1000 13 Hexagon head screw M20/55 8.8
10 | 02 1005 13 Hexagon head screw M12/25 8.8
11 [ 02 1001 20 Disc 21 — 100HV

12 | 02 1012 40 Screw retainer SKM12 DT320
13 | 02 1000 77 O-ring 19,2x3

14 | 02 1000 52 O-ring  94x3

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Slewing cylinder D80/45x185 (10094569)

Pos | Part No. Description Remark
1 02 1005 66 Cylinder support

2 02 1011 18 Slewing pivot

3 02 1005 67 Bolt

4 02 1001 54 Protecting tube

5 02 1001 55 Cylinder head

6 02 1001 56 Piston rud

7 02 1001 57 Cylinder

8 02 1094 09 Cylinder head

9 02 1017 09 Tension ring

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

10 | 02 1001 60 Rud eye

1" 02 1001 54 Pressure spring

12 [ 02 1017 01 Spring bolt EV 105-0199
13 [ 02 1015 38 Valve plug M20x1,5 WD
14 | 02 1000 02 Steel ball @10

15| 02 1015 92 Sealing ring

16 | 02 1000 67 Screw plug GA

17 | 02 1000 56 Sealing ring A17x21 Cu
18 [ 02 1001 33 Retaining ring 68x2,5

19 [ 02 1001 55 Articulated bearing GE45 DU RS
20 | 02 1000 84 Grease nipple CM 10x1

21| 02 1000 26 Bushing MB 35/30 DU
22 | 02 1001 97 Treaded rod @20x570/40-40
23 | 02 1000 32 Hexagon nut M20 10DT
24 | 02 1000 09 Disc 21 C45

25| 02 1018 80 Expander

26 | 02 1001 21 Hexagon nut M42x3

27 | 02 1000 49 O-ring 56x4

28 | 02 1000 33 O-ring 72x4

29 | 02 1000 04 Scraper 45x55x7

30 | 02 1001 34 Guide band 9287.076.519
31 02 1001 35 Piston sealing 80x60x10
32 02 1001 36 Rod sealing 45x60x11,4
33 | 02 1001 38 Back up ring 80x73,6x1,5
34 | 02 1000 55 Hexagon head screw M10x20..8.8

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379

Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563

E-mail: tridubai@emirates.net.ae

Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com




TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

>

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Discharge flap (10036433)

Pos| Part No. Description Remark

1 | 02 1008 82 Locking cap DN250

2 | 02 1003 83 Sealing ring DN250

3 | 02 1003 89 Clamping piece right

4 | 02 1003 88 Clamping piece right

5 |1 02 1000 71 Cheese head screw M16x70 8.8
6 | 02 1013 55 Screw retainer SKZ16 DT320
7 | 02 1002 89 Tube 16x2,5x17

8 | 02 1000 81 Disc 10,5 — 140HV
9 | 02 1000 83 Hexagon nut M10x8 A2C
10 | 02 1000 07 Hexagon head bolt M10x45 8.8

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Gate Valve (180)

Pos | Part No. Description Remark
2 | 02 1000 48 | Flat Gate Valve 180/55/25 BPL801
3 | 02 1001 11 | Shell 180/55/25 BPL801
4 | 02 1001 30 | Guide Sleeve BPL801
2 | 02 1001 61 | Flat Gate Valve 180/65/35 BP2/3000
3 | 02 1001 62 | Shell 180/65/35 BP2/3000
4 | 02 1001 26 | Guide Sleeve BP2/3000

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



TRI MACHINERY TRADING & RENTAL CO. (L.L.C.)

components, accessories, spare parts for construction machineries

Gate Valve (210)

Pos | Part No. Description Remark
2 | 02 1000 37 | Flat Gate Valve 210/55/25 BPL801
3 | 02 1001 12 | Shell 210/55/25 BPL801
4 | 02 1001 30 | Guide Sleeve BPL801
2 | 02 1001 64 | Flat Gate Valve 210/65/35 BP2/3000
3 | 02 1001 65 | Shell 210/65/35 BP2/3000
4 | 02 1001 26 | Guide Sleeve BP2/3000

All manufacturers names, symbols and descriptions used in this catalogue are used for reference purposes only

Dubai Office: P.O. Box: 62520, Dubai - U.A.E. Tel: +9714-2977372, Fax: +9714-2977379
Showroom & Store: Sharjah - U.A.E. Tel: +9716-5346860, Fax: +9716-5346563
E-mail: tridubai@emirates.net.ae  Homepage: www.trimachineries.com

Qatar Branch: German Arab Parts Trading & Services Co. (L.L.C.)
P.O. Box: 4557, Doha - Qatar. Tel.: +974-4504939, 4504912 Fax: +974-4502165
E-mail: infogat@trimachineries.com  Homepage: www.trimachineries.com



